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AN REF(ER/22) N RE A BT R S
1 Ed=Cp 1 Jz 3 =EdxWqxUp/1000
2 Cp<Ed=1.25Cp 1.32 fe 7 = [Cpt(Ed-Cp)x1. 32 ) xWaxUp/1000
Je % = (Cpt0. 25Cpx1. 32+(Ed-1. 25Cp)x1. 74 ) xWgx
3 1. 25Cp<Ed=1. 5Cp 1.74
Up/1000
je 7 = [ Cpt0. 25Cpx1. 32+0. 25Cpx1. T4+(Ed-1. 5Cp)
4 1.5Cp<Ed=1. 75Cp 2.30
x2. 30 ] xWgxUp/1000
Je ¥ = (Cpt0. 25Cpx1. 32+0. 25Cpx1. 74+0. 25Cpx
5 1. 75Cp<Ed=2Cp 3.03
2. 30+(Ed-1. 75Cp)x3. 03 ] xWgxUp/1000
fo § = [Cpt0. 25Cpx1. 32+0. 25Cpx1. 74+0. 25Cpx
6 2Cp<Ed 4
2. 30+0. 25Cpx3. 03+(Ed-2Cp)x4 ) xWaxUp/1000
Ed=# (73) k3 kf (Fn/22)
wp Cp=r (73) kR FUE (F/22)

Up="kficg Ef (Frd%H~/27)




